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You either love this stuff or you hate it, but you still can't look away... Birchstone Studios ..

e ystic

hwﬁw has the most eggstraordinary pottery (tickedgeodcandlos con)

W is = =

\Gaarar,
mdw
stveamlinta

This handcrafted pottery for your kitchen is beautiful, practical, and just a little
disgusting. Crack an egg into his head, tip him forward a bit, and he separates the
egg whites through his nostrils. A very unusual item... | bet you don't have one, yet.
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£) manometers

(f) In the two diagrams below, draw and shade the level of mercury in the manometers (as accurately
as possible). Assume that viscous effects are negligible:

AIR/ATMOSPHERE AIR/ATMOSPHERE

I

TAN/BLOWER

FAN/BLOWER

Figure 2: (Left) A fan downstream of the measurement section (Right) a fan upstream of the measurement
section
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